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FIBER OPTIC NETWORKING

Frifa w3 @ [ftreham 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
A () ¥H-wAATAEAY @og et

Note : There are THREE sections in the paper A, B and C.

(ii) GFTCT T GG & T 10 9177 3 IR AT | I 97T T 37 BT 8 T
Yt 10 977 FTGAY TR F I F E |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QFIT 3 8 I991 8 @ [87 6 F971 & IR AT | I%F F97 3 3% T 2 0F
71 5 MET / 50 IG1 5 IR Ao |
Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) TS 6 397 7 @ fb5T 4 771 & I 50 | Y% §97 8 3% #T 8 0
377 15 57 / 150 Mgl 7 3o &9/ |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) 9% QFIT & G 571 Bl FHER TH Q1Y 57 T |

Solve all the questions of a section consecutively together.

(vi) g1 gTaT37 7 3= 817 % 1T 7 373 Sgare S A= 2

Only English version is valid in case of difference in both the languages.

LESE B
Section — A
I (i) T e S uees feufa & forg & ot fagral 1 FATERT ST
TV BT 8 |
(a) RIS 3T=T:H™h (b) TR BTZITH
(c) Tepmfg Jeafdhn (d) weprfiT Haiwor

@ (10f4) P.T.O.
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Each stage of information transfer is required to follow the fundamentals of

(a) optiéal inter connection (b) optical hibernation
(¢c) optical networking (d) optical regeneration
(ii) wiferfd H, grer anerorar 1 fesnat & Tafia g g |
(a) AW (b) ®WR
(c) T (d) ==
In the topology, the data generally circulates bi-directionally.
(a) Mesh (b) Star
(c) Ring (d) Bus
(iif) (3.eeg dum.) w STHT TRk Biell § |

(a) FuA qUTeEd fawTe Sgdeha : B ST
(b) Tt quTeed fderes AeAm : ¥ HeR
(c) Hiun o fasTSH SEgehad : BISeR 37w
(d) SUU H T I TE
(DWDM) is a transmission techniques.
(a)  Dense wavelength division multiplexing : Fibre optic
(b) Direct wavelength directing medium : Telecommunication

(c)  Direct wave division multiplexing : Fiber optic
(d) None of the above

(iv) Sz dhum, < STERT h1 SRS T o 3o & e a1 R |
(a) dizd, 3-UeA AN BT (b) wedHifgE 3Tk Aifea
(c) 3w aft (d) 390 H Q H1S 7
DWDM allows the transmission of over the optical layer.
(a) Voice, e-mail and data (b) Multimedia and video
(c) All of the above (d) None of the above
(v) T Terl 1 et ayg 2 i uftwy fiem ga s 2 |
(a) ke STEeT TE (b) ISR HE HTe
(c) URYY @ Tgg (d) YHrE deas
are the array of switches which forms circuit switching fabrics.
(a) Packet arrays (b) Optical cross connect
(¢) Circuit arrays (d) Optical network
(vi) e fer ufty fesfed Jeash o1 e 2|
(a) 30 weE (b) Uy YvcuTesH
(c) Uehe foriis (d) uEE /g
is an example of a static circuit switched network.
(a) OXC (b)  Circuit regeneration

(¢) Packet resolver (d) SDH/SONET
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(vii) 100 A &9, 0H. T = 9167 U 3= Yl BigsK 31w e 1 dishet T
Jead (LAN) T 2 fEd 1000 RIM R A E |
(a) THE TR (b) HHEA
(c) THEE IR (d) TH A AR

is a high performance fibre optic token ring LAN running at 100 Mbps
over distances up to 1000 stations connected.

(a) FDDI (b) FDDT
(c) FDDR (d) FOTR
(viii) T & Tt it/ 31E ot Te wiew | ferart wd 3ufedm Bt € 2
(a) 6 (b) 7
(c) 5 d@ 4
How many layers are present in the TCP/IP reference model ?
(a) 6 B 7
() 5 (d 4
(ix) Ueh AN/ Sgchash  <HI USRI BT 2 |
(a) Tk W (b) @
(c) o wal (d) =Rt
An add/drop multiplexer is a device.
(a) one layer (b) two layers
(c) three layers (d) four layers
(x) Tk e seae Y Aeash T Tqh BT B |
(a) 100 Mbps (b) 1 Gbps
(¢) 50 Gbps (d) 3uUed T O His A&l
The network speed of gigabit ethernet is upto )
(a) 100 Mbps (b) 1 Gbps
(¢) 50 Gbps (d) None of the above (1x10)
Yo —
Section - B
2. WAN®IR ?
What is WAN ? 3)
3. 9 g € T 1S 99 OF 1 BT 8 ? Had H HHIAST |
What is DWDM light wave system ? Explain briefly. 3

4. Uiy fegea dedls /e ?

What is circuit switching technique ? 3
5. faft=t weprl @ Seaeh et i G&d | ==l I |
Briefly discuss the different types of network cables. 3)

P.T.O.
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6.

10.

11.

12.

13:

14.

15:

ThE1Y Jatieh i e H THesy |
Explain optical amplifier in brief. 3)
HISR A TR & 319 o g 8 2
What do you understand by fibre channel topologies ? A3)
Tk e st Jead ot ot seey €., & wror e § gwesu |
Explain in brief the passive optical network using CWDM. 3)
Th HedIiIeIhic] ool ferer o1 BT @ 2
What is a multiprotocol label switching ? 3
AH —
. Section — C
HH. /3118, wex wieet 1 fereamydes wmgmeT |
Explain TCP/IP reference model in detail. 3

B Becafece (STRTf | ferToT sgeohaT) oiée e ! fear & gwgisy |
Explain OTDM (Optical Time Division Multiplexing) light wave system in detail. 3)

foreqa-sfs Tva-gTet s, 91w, Yo @) frean @ mwEsT |
Explain wide-band long-haul WDM network in detail. t))

Frferias = foram & wogmsU
Explain the following in detail :
(i) THRNT Hig hee fog=q

Optical cross connect switching

(i) aCTeE ATy

Wavelength routing (4x2)
T 212137, % SNERQ & 3R 9T 1 R & gwesy |
Explain basic features and applications of FDDI in detail. 8

1 w wfige feoaforat forfige : (@)
Write short notes on following : (Any Two)
() THZaA T A2
Under Sea network
(i) IS A AT
Fiber channel architecture
(iil) 2Tk Tierniet S ars. d.oft. -4
Network protocol like IPv4 (4+4)




